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SECOND TERMINAL EXAMINATION | N

JEE Year 1201820
Dato 13420
Time : 800 am. 05,00 a.m. Typo- 1 . Warks: 80
Tnstructions:-
(1) There are 20 questions in this question paper out of which 15 are MCQs and
5 are integer based questions.
(2) Al questions are compulsory and carry 4 marks each,
(3)  One mark will be deducted for every wrong answer attempted in Part - A,
() No negative marks for wrong answer in Part - B,
Part- A
% Choose the correct option and darken it with black pen in the given
OMR sheet.
1) Match the following A & I3 and select the correct answer
A B
1. Heavy Water (#) Bicarbonates of Mg & Ca in water.
2, Temporary hard water - (B) No foreign ions in water
3. Soft water - ©Dpo
4. Permanent hard water (D) sulphates & chlorides of
Ca & Mg in Water.
(a) 1-C, 2-D, 3-B, 4-A b T-B, 2-A, 3-C,4-D
(¢) 1B, 2D, 3-C, 4-A (@) 1-C, 2-A 3-8, 4-D
2)  Metal hydrides are ionic, covalent, o molecular in nature. Among LiH,
NaH, KH, Rb H, CsH, the correct order of increasing ionic character is ___.
a) Lill> Nl >CsH > Kl > RbH b LiH < Nall < KH < Rbi <CsH
<) RbH >Cst > NaH > KH > Litl d) NaH > CsH > RbH » RbH > Liti > KH
3)  When a substance A reacts with water it produces a combustible gas B and

a solution of substance C in water when another substance D reacts with
this solution of C, it also produces the same gas B on warming but can
produce gas B on reaction with dil. 1,50, at room temperature. A imparts a
deep golden yellow colour to a smokeless flame of Bunsen burner.

A, B, Cand D respectively are ?
\ay"Na, H,, NaOH, Zn b) K, H, KOH, Al

< Ca, H,, CalOH),, S d) CaC,, CyHT,, Ca(OH),, Fe

v
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4] Statement- 1: H,0, has higher boiling point than ,0

Statement - 2 : [t has stronger dipole-dipole interaction than that shown

water.
() statement- 1 is true, Statement -2 is true,

statement- 2 is a correct explanation for statement - 1
(b) statement- 1 is true, Statement -2 is true,

statement- 2 is not a correct explanation for statement - 1

e statement- 1 is tri

tatement -2 is false,
(d) statement- 1 is false, statement -2 is true,

5)  Which of the following pairs of substances on reaction will not evolve

H, gas?
(@) Tron and aqueous HSO4 (b) Iron and Steam
ey Copper and dil. HCI {d) Sodium and Ethyl aleohol,

6 Identify the correct statement.
{a) Gypsum is obtained by heating of plaster of Paris.
(b) Plaster of Paris can be obtained by partial oxidation of Gypsum
(c) Plaster of Paris can be prepared by hydration of Gypsum
{4y Gypsum contains a lower percentage of calcium than plaster Paris
7 gcrylhum shows diagonal relationship with aluminium which of the
following similarity s incorrect ?

() Be Forms beryllates and Al Forms aluminates.
" Be(OH), like AI(OH),is basic.
Y

(c) Be like Al is rendered passive by HNO,

(d) BeC like AIC, yields methane on hydrolysis.
8 The molecule X¥, contains two & and two 7 bonds and one lone pair of
electrons in valance shell of X. The arrangement of lone pair and bond pair

s J
(a) Linear ysf Trigonal planar (c) Square pyramidal (d) un predictable
) Which of the following represents the given mode of hybridisation spe-sp?-

sp

from left to right?

H,C=CH-C=CH 3 cH

o HC=C=C=CH, =cH,
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Which of the following maximum number of lon pair associated with Xe ?

a) XeF, b XeF, BEHAEF, a Xeo,
11) The are number of sigma and pi-bonds in 1-butene-3-yne are
a) Soand St \BlToand 31 o Soand 2 d) 6o and ax

12) Which of the following compound is isomeric with 2,2'4,4’ - tetra methyl
hexane ?

&) 3- Ehtyl -2, 2 - dimety] pentane

‘propyl heptane
<) 4~ Ethyl - 3- methyl - 4- n - propyl octane
d) 4,4~ di ethyl - 3 methyl heptane

13) The number of possible open Chain (acyclic) isomer compound formula
€,H,,, would be

a) 8 b)7 Lo a5

14)  TUPAC Name of

&) o, o' -di amino-o, o’ - di carboxyl bi phenyl
_ di amino di phenyl - 2-2’ -di carboxylic acid

©) di amino dicarboxy bi phenyl
d) none of these

15) Name of the following structure :
(2) 3-methyl-4- Ethyl octane
(b) 6-Butyl-5-ethyl-3-methyl actane
(@) §, 6 Diethyl-3-methyl octanc

M Ethyl - 3~ methyl octane
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18)

19)

20)

Part-B -
Caffeine has a molecular weight of 194. If it contains 28.9 % by mass of
nitrogen, number of atoms of Nitrogen in ane molecule of cafleine is <4
250m! of sodium carbanate solution contains 2. 65 gms of Na.CO, If 10
mL of this solution is diluted to 1 Lir, what is the concentration of the
5000 M. ( M.W. of Na.CO, =106 g/ mole) 1 %158

resultant solution i

1.25gmof a solid dibasic acid is completely neutralised by 25 mL of 0.25
molar Ba(OH), solution. Molecular mass of the acid is 200

Approximate atomic weight of an element is a 26.89. If its equivalent
weight is 8.9, the exact atomic weight of Element would be_26F
LSmol of O, (di oxygen) combine with Mg to form MgO. The mass of Mg

that has combined is &3 .





